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(15 pts) 1. Compute the energy E,, and the power P, for the CT signal
z(t) = 3D,

(Justify your answer.)
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(15 pts) 2. An LTI system has unit impulse response h[n| = 3u[n]. Compute
the system’s response to the input z[n] = ()" u[n]. (Justify your answer.)
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(20 pts) 3. Consider the system whose input z(t) is related to the output
y(t) by the equation
y(t) =xz(t —3) +z(3 —t).

a) Check all properties that that hold for this system. (No justification

needed.)
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b) Is the above system time invariant? Answer yes/no and justify your
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(15 pts) 4. Suppose we are given the following information about a signal

z[n]:
| Cos WOy OB
1. z[n] is a real and even signal. A

2. x[n] has period N = 10 and Fourier coefficients ay.
3. a; = . 4 t = g
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Find z[n]. (Justify your answer.) c i+ £tz S0
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(15 pts) 5. Consider a continuous-time LTI system whose frequency response

15 .
H(jw) = f h(t)e 7 de Smi;‘w).

If the input to this system is a periodic signal
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